HW #7

#7.7.1.  Solve as simply as possible:
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- with u(a, 0, i) = 0,u(r,0,0) =0, and L (r,0,0) = a(r) sin 0.

7.7.2. Solve as simply as possible:
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i, ar by o ) = ()
) ‘ 5 = ¢ V4u subject to ar(a, 8,1)
! 2 with initigl conditions
(a) -u(r,0,0)=0, - %%(7‘, 0,0) = B(r) cos50

16 (©) ulr,6,0) = u(r,0, H) = f(r)cos 3, ~ %%

7.9.2. Solve Laplace’s équa,tion inside a semicircular cylinder, subject to the bound-
ary conditions o : . e

*(b) w(r,6,0) =0, - %ﬁ;‘(r, 6,H) =0, . - ufr, 0, 2) =0,

" u(r,m, z) = 0, ula b,2) = B(0,2)




